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1.  What are principle characteristics of electric field?///
a)  Dielectric permittivity, electric conductivity.

b) Potential , strength.

c) Forcelines, surface electric charge density.

d) Electric power, Ohm’s and capacitive resistance.

2.  Which of the following statements describes the law of conservation of electric charge?
a) In open system algebraic sum of charges of all particles makes zero q1+q2+q3+q4+…+qn=0.

b) In a closed system algebraic sum of charges of all particles makes zero q1+q2+q3+q4+…+qn=0.

c) In a closed system algebraic sum of charges of all particles is constant: q1+q2+q3+q4+…+qn=const.

d) In a opened system electric charge of each particle is constant.

3.  Which of the following formulas relates vectorial (force) characteristics of homogeneous electric field to scalar (energetic) characteristics?
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4.  Find the correct statement about electric field strength

a) E = F/q,  it is scalar, units 1N/C:

b)
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. it is vectorial , its direction coincides with the direction of the force acting on positive charge; units 1N/C.
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, it is scalar; units 1N/C.
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, it is vectoral, its direction coincides with the direction of the force acting on an electron;  units 1N.C.

a) 5.  Which of the following statements about potential is correct?

b) φ= W/q; it is  a scalar characteristic of electric field, units 1 Volt.

c) φ= W . q; it is  a scalar characteristic of electric field, units 1 Volt / 1 Coulomb. 

d) φ= W/q;  Units 1 Joule.

e) 
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, vectorial magnitude directed parallel to F; units 1 watt.

6.  What does dielectric permittivity indicate? 
a) 
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 , how much the interaction force between the charges in a given media is lower compared to  vacuum.

b) ε = Fo/F,  how much the interaction force between the charges in a given media is higer compared to  that in vacuum.

c) ε0  = 8.85 – 10-12 CV-1m-1 indicates electric charge conservation.

d) Interaction  force between 2 charges of 1 Coulomb  with 1 meter of distance between.

7. Any point of equipotential surface has  

a) the same strength

b) the same charge

c) equal Coulomb forces

d) the same electric potential

8. Electric conductivity of metals is caused by: 

a) Free electrons.

b) Negatively charged ions.

c) Positively charged ions.

d) All of abovementioned.

9.  What is the application of electrolysis in medicine?

a) Galvanoplastica.

b) Galvanostegia.

c) Ionophoresis and galvanization.

d) Ionization

10. Impedance of a living system is one of the following:

a) The  Ohm’s resistance  only.
b) The sum of Ohm’s and capacitive resistances.

c) The s inductive resistance only.

d) The  capacitive resistance only.

11 Therapeutic electrophoresis is:

a) Introduction of medicinal substances into living organism by the mean of direct electric charge.

b) Formation of ions of medicinal substances in living organism.

c) Medical method for measurement of electric conductivity of a living tissue.

d) Determining of dispersion of electric conductivity in a living tissue.

12.  Which of the following definitions of electric dipole is correct?

a) Electric dipole is a system of charges with opposite sign in which the centers of redistribution of charges coincides with each other.

b) Dipole is a combination of electric charges with different magnitude and the same sign

c) Dipole is a combination of electric charges with equal magnitude and opposite sign separated by distance l.

d) Dipole is a positive charged bodies system.

13. A dipole moment
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 is defined as one of the following:

a) Ratio of dipole charge and distance between charges.

b) Vectorial magnitude which is directed from negative charge to positive one and equals the product of charge (q) and distance (l) between them.
c) Vectorial magnitude which is directed from positive charge to negative one and equals the ratio of distance (l) and charge (q).
d) Force moment which has rotating property.

14  What causes a decrease in impedance of living tissue at an increase in the frequency of alternating electric current?

a) A decrease in Ohm’s resistance.

b) An increase in polarization emf.

c) An increase in ion displacement.

d) A decrease in capacitive resistance and disappearance of polarization effect.

15.  Which of the following effects does not accompany flow of electric current in a conductor?

a) Thermal effect.

b) Chemical effect.

c) Mechanical effect.
d) Magnetic effect.

16. Which of the following formulas is correct for Ohm’s low in case of living system?

a) 
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, where ε is emf of the source of electric current, ε(t) - emf of polarization, R is tissue resistance.

b) 
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, where ε is emf of the source of electric current, ε(t) - emf of polarization, R is tissue resistance, I – electric curent, R - resistance

c) 
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, where U is electric potential of tissue.

d) 
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, where ε is emf of the source of electric current, ε(t) - emf of polarization, R is tissue resistance.

17. What kind of polarization has the largest  relaxation time

a) ionic polarization 

b) dipolar polarization

g) surface polarization
dmacrostructural polarization 
18. Which value usage is promising for displaying  images  of living objects?
a) frequency of radiation

b) polarization of electromagnetic forces

g) Spatial distribution of impedance (total conductance)
d) Polarization efficiency (or coefficient of polarization)
19.  Which of the following definitions of magnetic field induction is correct?

a) Magnetic induction is a characteristic of magnetic field and it equals a force acting on electric charge unit.

b) Magnetic field strength in a media is called magnetic field induction.

c) Magnetic induction is a force by which magnetic field acts on a conductor with electric current.

d) Magnetic induction quantitatively equals a force by which magnetic field acts on unit of electric current directed perpendicularly to induction vector. 

20.  Which of the following statements about magnetic field induction is correct:
a) B =I/MS; it is scalar, units  1 weber.

b) B = F/k . I . Δl . sinα; it is vectorial, units 1 tesla.

c) 
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, it is scalar, units  1 tesla.
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, it is vectorial, units  1 weber.

 21.   What is magnetic field strength?

a) Ratio between magnetic induction in vacuum and magnetic induction in the media

b) Ratio between magnetic constant μ0 and magnetic induction in the media

c) Ratio between magnetic induction in the media and absolute magnetic permeability μ.

d) The product of magnetic induction and magnetic permeability in the media.

22.  The principle property of magnetic field is:

a) To exert certain force on any charged particle.

b) To exert certain force on any positively charged particle.

c) To exert certain force on a stationary charge. 
d) To exert certain force on any moving charge
23. According to Biot-Savart law, how does magnetic field strength at a given point depends on a distance to this point and electric power of current in a conductor? 

a) It is inversely proportional to the product of electric power I and distance r.

b) It is directly proportional to  electric power I and inversely proportional to the distance square r2.

c) It is directly proportional to the product of electric power I and distance r.

d) It is directly proportional to the distance square r2 and is inversely proportional to electric power I.

24.  Which of the following formulas describes Joule-Lenz law?

a) A = I . U;

b) A = E . q .Δt;

c) 
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d) Q = U2 . R . Δt
25. What kind of relationship is between the intensity of continuous magnetic field and its biological effect on a living system?

a) Directly proportional relationship; the more field intensity the stronger biological effect.

b) Inversial relationship; the more field intensity the stronger biological effect..

c) Biological effect is not dependent on the intensity of magnetic field, it is dependent on the duration of magnetic field action on a living system.

d) Relationship is not univocal; in some cases biological effect is caused by certain optimal intensity, in other cases effect enhances along with a decrease in intensity.

26.  What causes generation of magnetic field in living tissues and organisms?

a) Polarization of cellular membranes.

b) Formation of local bio electric currents in them.

c) Dielectric properties of tissues and organs.

d) Presence of nonmoving positive and negative particles in an organism.

27. Magnetic field is generated: 

a) Around moving electric charge.

b) By stationary electric charge.

c) Around the plates of a capacitor.

d)  By the dipole.


28.  Vectorial characteristic of magnetic field is:

a) Magnetic induction

b) Mangenic flux

c) Potential

d) Electric power

29. What is the principal determinant of magnetic properties of a substance?

a) Orbital motion of electrons in atoms and rotation of electrons around their own axis.

b) Precession of nucleus around of electrons.

c) Transition of electrons from one energetic level to another.

d) Interaction of electrons with nucleus and each other.

30.  What is magnetography?

a) Measuring of geomagnetic field induction

b) Measuring of magnetic field induction for biological tissues and organs

c) Measuring of alteration of geomagnetic field induction during magnetic storms.

d) Measuring of magnetic permeability of a substance.

31. What kind of wave is an electromagnetic wave and what is it's speed of propagation in a given medium?
a)longitudinal wave V=λν,
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b) transverse wave V=λν, 
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 vectors are perpendicular to each other and  the direction of energy transfer (wave propagation)
g) longitudinal wave propagates down the magnetic-field vector by the rate of 
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 d) longitudinal wave V=λν,
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32.   What is magnetic cardiography?

a) Measuring of magnetic induction generated by heart bio electric currents.

b) Measuring of heart rate by electromagnetic counter.

c) Studying of heart muscle excitability by magnetic methods.

d) Measuring of blood flow velocity in coronary arteries by the mean of electromagnetic counter.

33. Which definition doesn't correspond to the light dispersion?
a) dependence of refractive index on it's color.
b) dependence of refractive index on oscillation frequency.

g) dependence of refractive index on wave length.

d) dependence of refractive index on phase difference.
34. Why does light intensity decrease due to propagation (or distribution) in the medium?
a) due to frequency decrease. 

b) due to light dispersion and polarization.

g) due to  light intensity decay caused by the mutual relaxation of waves collected via opposite phases during the light interference. 
d) during the propagation (or distribution) in the medium part of light energy scatters and part of it converts into energy of atoms and molecules of the medium.
35. Which waves are coherent ?
a)  waves with equal cyclic frequencies.
b)  plane polarized waves.
g) waves with constant phase difference Δφ at the different points of space.
d) waves with equal wavelength.

36. Where is the infrared radiation region of location in  electromagnetic scale?
a) between ultraviolet and γ radiations
b) between visible red light edge and shortwavelength radiation
g) between visible light and ultraviolet radiation

d) between Roentgen (X-ray) and γ radiations

  37. What sort of healihg properties possess ultraviolet radiation?
a) sustain thermoregulation, activation of biochemical processes in tissues, chemical transport through the membrane and etc.
b) syntheses of D-vitamin in skin, dark pigment of skin, has anthracitic effect.
g) has an antiseptic and analgesic effects. 

d) regulates circulation of the blood, increases tissue irritability, activates lung's secretory function and etc.
38. What is electromagnetic oscillation?
a) direct current transition through conductor and produced magnetic field unity.
b) charge, current, electrical and magnetic fields' voltage periodical and interdependent changes.
g) orbital motion of electron

d) spin-like motion of electricity 
39. What is light interference?

a) splitting of light into colors

b) scattering of light in medium

g) assembly of light waves resulting into strengthening and weakening sustain image.
d) collection of light waves by using of convex magnifying glass
40. What kind of device is the optical quantum generator?

a) device which  makes light focusing by spherical mirrors and magnifying glasses.
b) device which partially increases coherent waves as a result of interference.

g) device which makes electromagnetic radiation strengthening by using of the inversion "settling" environment.
d) device which strengthens  light due to atomic energy.
41. What is  Luminescence?
a) Luminescence is the emission of light by a substance. It occurs when an electron returns to the electronic ground state from an excited state and loses it's excess energy as a photon.
b) Luminescence is the spontaous  emission of light by a substance. 

c) Luminescence is the emission of light by a substance. It occurs when an electron jumps state from the electronic ground  to the excited state .

d) Luminescence is the absorption of light by a substance. 

42. Therapeutic action of infrared radiation is:
a) bacteriocidal effect
b) Synthesis of vitamin-D in skin.
g) activation of thermoregulation, increase of blood rush  to the irradiated part of body.
d) destructive effect.
43. The definition of fluorescence is following:
a) ) It is emission of light from triplet excited states, in which the electron in the excited orbital has the same spin orientation as the ground atate electron. Transmission to the ground state are forbidden and the emission rates are slow.
b) It is emission of light from triplet excited states, in which the electron in the excited orbital has the same spin orientation as the ground atate electron. Consequently, return to the ground state is spin aloowed and occurs rapidly by  emission of a photon (fluorescence).
c) It is emission od light from excited singlet states,in which electron in the excited orbital is paired (of opposite spin) to the second electron in the ground state orbital. Consequently, return to the ground state is spin aloowed and occurs rapidly by  emission of a photon (pluorescence). 

d)It  is emission od light from excited singlet states, in which electron in the excited orbital is paired (of opposite spin) to the second electron in the ground state orbital. Transmission to the ground state are forbidden and the emission rates are slow.
44.   Which of the following definitions of relaxation is correct?

a) Time interval required for orientation of a vector of external field E0 is called relaxation time.

b) Relaxation time is period of oscillation of external field vector.

c) Relaxation is time interval required for surrounding molecules to return to their initial position after orientation in the direction of the field.

d) Relaxation time is time interval required for redistribution and orientation of free and bound electric charges under the influence of external field – for generation of maximum electromotive force of polarization
45 The difinition of Phosphirescense is following:
a) ) It is emission of light from triplet excited states, in which the electron in the excited orbital has the same spin orientation as the ground atate electron. Consequently, return to the ground state is spin aloowed and occurs rapidly by  emission of a photon (pluorescence)..
b) It is emission of light from triplet excited states, in which the electron in the excited orbital has the same spin orientation as the ground atate electron. Transmission to the ground state are forbidden and the emission rates are slow
c) It is emission od light from excited singlet states,in which electron in the excited orbital is paired (of opposite spin) to the second electron in the ground state orbital. Consequently, return to the ground state is spin aloowed and occurs rapidly by  emission of a photon (pluorescence). 

d)It  is emission od light from excited singlet states,in which electron in the excited orbital is paired (of opposite spin) to the second electron in the ground state orbital. Transmission to the ground state are forbidden and the emission rates are slow.
46. Energy of these “light particle” is related to:

a) their velosity

 b) their frequency, 

c) their mass

d) amplitude of their oscillation 

47. What is the diamagnetism?

a) Diamagnetism is the property of an object which causes it to create a magnetic field in opposition of an externally applied magnetic field. Specifically, an external magnetic field alters the orbital velocity of electrons around their nuclei, thus changing the magnetic dipole moment in the direction opposing the external field. 

b) Diamagnetism is a form of magnetism which occurs only in the presence of an externally applied magnetic field. Diamagnetic materials are attracted to magnetic fields, hence have a relative magnetic permeability of ≥1. This generally occurs due to the spin of unpaired electrons in the atomic/molecular electron orbitals.

c) Diamagnetism is a property not just of the chemical makeup of a material, but of its crystalline structure and microscopic organization. 

d) Diamagnetism is the property of an object which causes it to create a magnetic field in opposition of an externally applied magnetic field. This generally occurs due to the spin of unpaired electrons in the atomic/molecular electron orbitals.

48. What is the Paramagnetism?

a) Paramagnetism  is a form of magnetism which occurs only in the presence of an externally applied magnetic field. Diamagnetic materials are attracted to magnetic fields, hence have a relative magnetic permeability of ≥1. This generally occurs due to the spin of unpaired electrons in the atomic/molecular electron orbitals.

b) Paramagnetism is the property of an object which causes it to create a magnetic field in opposition of an externally applied magnetic field. Specifically, an external magnetic field alters the orbital velocity of electrons around their nuclei, thus changing the magnetic dipole moment in the direction opposing the external field. 

c) Paramagnetism is a property not just of the chemical makeup of a material, but of its crystalline structure and microscopic organization. 


d)Paramagnetism is the property of an object which causes it to create a magnetic field in opposition of an externally applied magnetic field. This generally occurs due to the spin of unpaired electrons in the atomic/molecular electron orbitals. 
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